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‘code': '000651',
"time': '2018-03-21',
‘open': 52.25,
'high': 52.61,

"low': 51.68,

‘close': 51.70,
‘adjfactor': 162.45,
'pe_ttm': 15.82,
'trade_status': 'R5',
‘chg_pct': -6.96
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SEINRREE;

def stock_pool(begin_date, end_date):

adjust_date_codes_dict = dict()

time_cursor = db.daily.find(
{'code': '000001.SH', 'time':{'$gte': begin_date, '$1lte': end_date}},
sort=[("'time"', ASCENDING)],
projection={'time': True},
batch_size=1000
)

all _dates [X['time"'] X time_cursor]




SEINRREE;

last_phase_codes = []
adjust_interval = 7
all_adjust_dates = []
_index range(@, len(all_dates), adjust_interval)

adjust_date = all_dates[_index]
all_adjust_dates.append(adjust_date)

daily_cursor = db.daily.find(
{'time': adjust_date, 'pe_ttm': {'$1t': 30, '$gt': 0}, 'trade_status': 'X5'},
sort=[('pe_ttm', ASCENDING)],
projection={'code': True},
(imit=100
)

(F) mEhx
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SEINRREE;

codes [X['code'] X daily_cursor]

this_phase_codes []

len(last_phase_codes) = 0:
suspension_cursor = db.daily.find(
{'code': {'$in': last_phase_codes}, 'time':adjust_date, 'trade_status': '{Eh#'},
projection={"'code': True}
)

suspension_codes = [x['code'l] X suspension_cursor]

this_phase_codes suspension_codes

this_phase_codes codes[® : 100 - len(this_phase_codes)]

last_phase_codes this_phase_codes

(F) mEhx
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SEINRREE;

adjust_date_codes_dict[adjust_datel this_phase_codes

(adjust_dates, adjust_date_codes_dict)
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def evaluate_stock_pool():

adjust_dates, codes_dict = stock _pool('2015-01-01', '2018-05-25')

df_profit = pd.DataFrame(columns=['profit', 'hs300'])

df_profit.loc[adjust_dates[0]] = {'profit': @, 'hs300': 0}

hs300_begin_value = db.daily.find_one({'code': '000300.SH', 'time': adjust_dates[0]})['close'l

net_value 1

(F) mEhx
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_index range(1l, len(adjust_dates) - 1):
last_adjust_date = adjust_dates[_index - 1]

codes codes_dict[last_adjust_datel

current_adjust_date = adjust_dates[_index]

code_buy_close_dict = dict()

buy_daily_cursor = db.daily.find(
{'code': {'$in': codes}, 'time': last_adjust_date},
projection={'close':True, 'adjfactor': True, 'code': True}
)

buy_daily buy_daily_cursor:
code = buy_daily['code’']
code_buy_close_dict[code] - buy_daily['close'] * buy_daily['adjfactor']
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sell_daily_cursor = db.daily.find(
{'code': {'$in': codes}, 'time': current_adjust_date},
projection={'close':True, 'adjfactor': True, 'code': True}
)

profit_sum = 0
sell_daily sell_daily_cursor:
code = sell_daily['code’]

buy_close = code_buy_close_dict [codel
sell_close = sell_dailyl['close'] sell_daily['adjfactor']

profit_sum (sell_close — buy_close) /buy_close

profit = round(profit_sum/len(codes), 4)

hs300_close = db.daily.find one({'code': '000300.SH', 'time': current_adjust_date})['close']
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hs300_close = db.daily.find_one({'code': '000300.SH', 'time': current_adjust_date})['close']

net_value = net_value + (1 + profit)

df _profit.loc[current_adjust_date] = {

‘profit': round((net_value - 1) x 100, 4),

'hs300': round((hs300_close — hs3@@_begin_value) 100/hs300_begin_value, 4)}
df_profit.plot(title="Stock Pool', kind='line"')

plt.show()
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def compare_close_2 ma_10(dailies):

len(dailies) 10:
None

current_daily = dailies[9]
close_sum = ¢
count 0




T ESHBENTIMATORIKER

daily dailies:
daily['trade_status'] "{ShE ' '‘adjfactor’ daily:
None
close_sum daily['close'] * daily['adjfactor']

ma_10 close_sum/10

post_adjuested_close = current_daily['close'] current_daily['adjfactor']
differ = post_adjuested_close — ma_1l0
differ > 0:
1
differ < 0 :
1

0
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def is_k _up_break _mal@(code, _date):

current_daily = db.daily.find_one(
{'code': code, 'time': _date, 'trade_status': '3X5'})
current_daily None current_daily['pct_chg'] 0:
False




daily cursor = db.daily. find(
{"code': code, 'time': {'$lte': _date}},
sort=[('time', DESCENDING)],
limit = 11,
projection={'close': True, 'adjfactor': JTrue, 'trade_status': True}
)

dailies.~ [x X daily cursor]

len(dailies) 11:
False

dailies.reverse()




last_close_2 last_mal@® - compare _close 2 ma_10(dailies[0:10])

current_close_2_ current_mal® = compare_close~2yma_10(dailies[1:])

last . close_2 last _malod None current_close_2 current_mal@ None:
False

last_close 2 last mal@ 0 current_close_2 current_malo

(F) mEhx
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deT is_k_down_break_mal@(code, _date):

current_daily - db.daily.find_one(

{'code': code, 'time': _date, 'trade status': '%X5'})
current_daily None current_daily['pct_chg'] 0:
False

a last_close_2 last _mal® 0 current_close 2 current_malo 1
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def:®ind_out_stocks{last_phase_codés, {this_phase_codes):

1
a
» '~ r
Yo .
I ! ;

—

outstocks []

code last_phase_codes:
code this_phase_codes:
out_stocks.append(code)

out_stocks
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